Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes (twice).

- Looking at them as little as possible, answer the questions.
Spend at least three hours doing this homework

The answers to the Week 9’s questions should be handed to me next Thursday May 9th. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK  9 in bold at the beginning of your answers.

Week 9 

1std part: How the ECB handled the EZ debt crisis

1. Explain how a ten-year bond functions.

2. What is the primary balance budget?

3. “A reduction of the budget deficit leads to a decline in public debt”. Do you agree? Explain.

4. Before 2009, financial investors did not fear a default of the Portuguese government. How do we know that?

5. a) What led the Northern European banks to suddenly question the ability of the Portuguese government to fulfil its debt commitments in May 2010?

b) How did they react? 

c) What was the consequence on the interest rate of the Portuguese public debt on both the secondary and the primary markets? Explain

d) What was the effect of those facts on the behaviour of the same type of investors? Explain.

e) What was the consequence of that behaviour on the interest rate of the Portuguese public debt on the secondary market? Explain.

f) Present a scheme with the vicious spiral implicit in your answers a)-e).

6. Explain how the awareness that some investors feared a Portuguese default led two other types of investors to act. Include the explanation of short-selling in your answer.

7. Explain the death spiral that summarized the EZ debt crisis.

8. a) What might have led SOME investors to suddenly question the ability of the British government to fulfil its debt commitments in May 2010?

b) If that had happened, what would MOST investor have expected? 
9. Among the investors that may have acted as a result of (1) a fear of default, (1) a fear of a capital loss and (3) an attempt to profit a prediction of decline in bond prices, which one(s) may have acted in the British case? Explain.

10. Why did the Portuguese bond rates fall steeply after January 2012? 

2nd part: The QE of the ECB (Jan 2015- Dec 2018)

11. What has the ECB’s QE consisted of?

12. What has been the effect of the ECB’s purchases of a Southern country’s public debt on the interest payments of the government of that country:


a) Since April 2017? Explain.

b) From jan 2015 to Mar 2017?  Explain.
c) Since Jan 2019? Think and then explain.
13. What has been the effect of the ECB’s purchases of a Northern country’s public debt on the interest payments of the government of that country:


a) Since April 2017? Explain.

b) From jan 2015 to Mar 2017?  Explain.

14. Banks’ profits fell as a result of the ECB’s QE. Why?

15. a) One effect of the QE could have been a decline in long-term Treasury bond rates. Why?

b) Did that happen in the Portuguese case? 





…

16. Why has Germany insistently opposed to a ECB’s QE?

17. If Southern governments default on the interest payments on the part of their debts bought by the ECB, will German taxpayers be bound to paying higher taxes? Explain.

18. If Southern governments default on the face value of the part of their debts bought by the ECB, will German taxpayers be bound to paying higher taxes in a future date? Explain.

